[[Etticiency -si5<y<a5, 454 5<cos(@)<3545 ]

0@z T T
EH
3
6.02F + + 3
0.018fF + + F
0016F E
o.014F 4 + 1
0012F A
oot E
-+
0.008F + E
0006 4+ E
OUT TP VO FUP VOUT
12 3 4 6
cos(6)

[Efverency 015 a5 swcos@)-3545 |

044
3
8
0.242f
0.24F
0238

0.236)

0.234f

[[Etficiency -ais<y<-3is, 451 5<cos(e)<3545 ]

0.13p B
0.12p b
+ +
011 + -
I I + I I I
1 2 5

[[Efficiency vs<y<ars, -4 54.5<cos(@)=-35/45 |

oge2f T T
F
8
0.26F
0.258F
0.256f <~>
0.254)
0.252)]
0.25fF

0.248

[ Etticiency ai5<y<2i5, 4504 5<cos(@)<-3545 ]

0379
g
0.27

0.265]

[Eierency Zy=as, 45500355 |

5 6
cos(8")

ey
_I_

& +
A

[Etficiency -25<y<-15, -a5/a 5<cos(@)<35i45 |

0276 Y
5
3
8
0.274f
0.272f
0.27]

0.268)

0.266f

5 6
cos(6")

[Eferonsy w45 s scos@)=355 |

0.14] =+ + —+

0.125)
+

0.12]

0.115)

T

[eticiency -us<y<ois, 4514 5<cos(@)<-35i45 ]

0.248

0.246)

0.244}

0.242)

th

[Efverency w755 a5 s=cos@)-3545 |

77 Sk Aandd Aandd Aandd nandd nandd:
N ++ 3
oop  + E
0018 E
0.016f + + E
0.014f -
0012F ++ E
ook 4 + 3
0.008f E
-

0,006k saat it ittt

T2 3 5 6
cos(8)



[[Etticiency -si5<y<a5, 354 5<cos(@)<2545 ] [[Etficiency -ais<y<-3i5, 351 5<cos(e)<2545 ] [ Etticiency ai5<y<2i5, 3504 5<cos(@)<2545 ] [[Etficiency -25<y<-1s, 3574 5<cos(e)<-25045 | [eiciency -us<y<ois, 3514 5<cos(@)<-25i45 ]

QO2prrrrTrTTTTTTe T

3 5 &2l < £
obeb + Bk *+ + g ogep ogezf E
T ]
0.016] ouf + + 4 3 0.27| + 0.26
0.014F E -+ 0278
013F o26f E 0258
00128 E = 0.276f
0.12) E + : 0256
ooff E 0.25F 3
+ 0274
oo0sf + o + 4 3 s
0.006H - 0.24p k| 0.272F
o 3 0252
E + 4+ E E E 027f E
0.004} o000k 3 0.23) oot
0.002F E -+ 0.268f B
T Leviotiien 0.01 TR TUR VORI ORI TR Leent Leven T TR TTT TRTTRTT TR I
T2 5 6 1T 2 3 4 5 6 T2 4 5 6 1T 2 3 4 5 6 1T 2 3 4 5 8
cos(6") cos(8") cos(8") cos(6") cos(6")
[Eftorency 05575, 38R s<co0)=2545 | e | [Eiciency 75535, 3552000255 | [Efcroncy o4, 3amswcon@)=2545 | [Eftoioncy 5555, 38R 50002545 |
2 L i e i aadas | 2 T = I M e i ElfTTTTT T g
s 3 0365} 3 +
0354 4 0368F E 526 -|-+ 5315 -+ 802k ++ + 3
0.266F E
0.252] 0.018f -
0.255] + + + ouf + + + + +
0.264f E + 0.016F E
0.25F 0.25)
0.262F E 0.13F -+ E o014F E
o2 0.29) 0249 o0012F E
E E o0.12f 4
o2af 4 + 0.0l —+ E
0.246f 0.258F -+ -+ -+
0.235) o1 E 0.008F -+ E
0244 0.256] 0.006F -+ E
023 (¥ 3 E -+ -
o020b 0.254] E 0225k ¥ | 0.004F E
0.09H 0,002 -3
Lot 0.252B a0 i p i o TRV TR TRV TR TN T TRT T T TRV TOR TRV TR I
5 6 1T 2 3 4 5 6 1T 2 3 4 5 6 T2 3 6 T2 3
cos(8) cos(8") cos(8") cos(8") cos(8)



[[Ettciency -sim<y<-

415, 2514 5<cos(@)<1545 |

[[Etficiency -ais<y<-3i5, 251 5<cos(e)<1545 ]

01|
3
0314
0.014]
0012)
0.0}
0.008]
0.008]
0.004]

0.002)

5
cos(6")

cbach

[Efverency 0515 2o swcos@)1545 |

[[Etticiency ai5<y<2i5, 250 5<cos(@)< 1545 ]

[[Etficiency -25<y<-us, 2.5/ 5<cos(@) <1545 |

[[Efficiency vs<y<ars, -2.514.5<cos(@)=-15/45 |

0258|
3
8
0.256]
0.254]
0.252]

0.25|

0.248)

0874]
3
g
0.272)
0.27]
0.268]
0.266]
0.264)

0.262]

5 6
cos(8")

[Eierency Z5y=a5, 255000155 |

[eticiency -us<y<ois, 254 5<cos(@)<-15i45 ]

oZscfF

3

8
0.284F
0.282F

0.28]
0.278)
0.276
0.274]

0.272)

|

f

HH
o

6
cos(e~)

[Eferoncy w4 2o secos@r=155 |

cas(e')

0266
2
8
0.264
0.262
0.26)
0.258
0.256

0.254)

5 6
cos(6")

[(Ericienc:

iy oh, 28R 5o @155 |

&16
$

S
0.15)

&02

3

8
0018
0016
0014
0012

0.0
0.008
0.006
0.004
0.002

-+
-+

+
-+ ]
-

N

6



[[Ettciency -sim<y<-

415, 1514 5<cos(€)<-0545 ]

0.008f
0.006F
0.004f

-
0.002F

5 6
cos(6")

[Efferency 05575 1o s=cos@)-0545 |

02 T

0.254f

0.252f

“Ti} m

K

ol

=B

5 6
cos(8")

[Etficiency -ais<y<-3i5. -Lsia s<cos(e<05/45 ]

5
@15F
o

0276}
3

037af

0.272F
027F

0.268

0.262]

0.266|
0.264] ~\~ 3

[ Etticiency ai5<y<2i5, -Lsias<cos(@)=0545 ]

@29
3
3
8
0.28}

i + ]

+ + ]
L+

T 5

cos(6")

[Eirerency Z5y=a5, ToAsmco@)=055 |

ocount

+t

N3

cos(6")

[[Etficiency -25<y<-u5, 1574 5<cos(@)<0545 ]

&

5

3
0288
0.286
0.284

0.282)

0.278
0.276)

0.274)

5 6
cos(6")

[Eferoncy w45 Lo swcos@)=0545 |

[eticiency -us<y<ois, 1514 5<cos(@)<-05i45 ]

27

3

8
0.268)
0.266]
0.264]

0.262)

0.258

ﬁ

i

|

)

ﬁ

5 6
cos(6")

[Efverency w755, 1o s=cos@)-0545 |

o2
3
0018
0016
0014
0012

0.0
0.008
0.006
0.004
0.002




Efficiency 5/5<y<-4/5, 0.514.5<cos(§)<0545 |

091 LARARS MAARL AAARL AAARL ARARE)
ogls- ++ + + 4

0.014F E
0.012F E

0.0 3
0.008F E
0.006f E

ooap + T+ o+ ]

0.002f=—

Eficrency 0y <15, 054 5o @)0545 |

B LY AR MARAL MARAL MARAL MARAS MARA =
3
8
0.262p 4
0.26f, H
0.258 E
0256 E
0.254f E
0.252 -
TP T T TR
12 3 4 6
cos(8")

[[Erticiency ars<y<-ai5, 054 5<cos(@)<0 545 |

z T
@1sF =+ ++ 4
014F E
013k E
012k E

-+ -+

+ +

0.1 -
o1 E
0.09F, 4
-+ -
0.08Be bt
12 3 4 6
cos(8")

[[Eitency o2 a5 secos@ 055 |

=
0z76f
8

0.27|
0.268| +

0.266|

0.264F

0.262F

S

N3

[Etficiency -sis<y<-255, -05/a 5<cos(@)<05i45 ]

co@nt
N
©

o
N
3

0.27|

5 6
cos(8")

[Efteiency 25735 0ss=cos@r0545 |

© count
N
N

0.26}

0.25}

++ +

[[Eticiency 25<y<-1is, 05 5<cos(e<0.5/4.5

T,

0.275

ceunt
3
T

e |

5 6
cos(6")

él&- -+

S
0.15F

[Eroency 05 D5 5os

omas )

= LARAA AARAS MoALY
0Z74F

H

8
0.272

0.27]

0.268

0.266f ~|~‘|‘
0.264f +

0.262

0.26F

s

L s s L
1 2 3 4

5 6
cos(6")

Eficroncy 45y <55, 054 505 @)0515 |

go T
H

o818

0.016F

0.014f

0.012F
0.01F

0.008F

0.006f

0.004F -+

0.002f= —_——

++




[Efieioncy Sey=45, 05 5ecos @155 |

01 LARARS MAARL MAARL AAARL MRS
0%16 F ++ ++ E
0.014F E
0.012F E

0.0tk E
0.008p -
0.006f +
000af __ -+ ]

0.002f,

[Eieney 0515 05 swcox@r1545 |

0§6A- -
0.262p -
0,261‘ +‘\>

0.258] ‘\‘+ -
0.256 .
0.254 <\; =
0.252F + e
Dz

[Eferency wy=35 05501545 |

0.268|

0.266|

0.264]

[Ericioney 525 05 5con @155 |

-

[ A Ty

0.27F -

+ o+

0.26f + + E

0.25p 4

0.24F ++ 3
023:'- " " " " "

1 2 3 4 5 6

cos(")

[Efcreney 25735 05 secos @155 |

0827- ++ ++ B
0.26F 1
0.5 + + + + 3
024

0.23F E

++
0.22k I I I I I I
1 2 3 4

[Efferency 5=15 05 5ecos@1545 |

29|

ca@nt

0.28f -I-
0.275F -I_

_I:

[Eiiency 3= o5 s=cos@r1545 |

5 6
cos(6")

P70, <adas aaans aesns Means Mesns
3
01sf -+

[Eiceney 505,05 5cos@ 1545 |

0572)
H
H
0.27
0.268)
0.266f
0.264f
0.262f
0.26f

0.258

bt ﬁ

£
Go2F
3
0.018F
0.016F
0.014f
0.012F
0.0
0.008F
0.006F
0.004f

0.002f




[Efieiency Sey=4, 154 5ecos@)25045 |

S L

0.014F
0.012F

0.01F
0.008f

0.006f

0004F - -+

0.002f

Eitcioncy Uy <1l 15 5<cos@1-255 ]

o
dount
@
&

0.256)

0.254f

0.252

[Eferency =35 155012575 |

+3
+

[Ewiency Toy=zs, Toscost@rzais |

= T
0576
2

8
0.274]

0.268|
0.266fF
0.264F

0.262F

b e

[Efteiency 3525 Toseos@255s |

Scount
.I_

[Efferency 5=15, 154 5ecos@2545 |

<count

0.275

0270 0 s L L L

oa2esf + _|_|__|_ ]

[Eciency 35 1o swcos@r255 |

5 6
cos(6")

TP St aads ans aans aante
H
01sf -+

0.1k

[Eiceney 505, 15 5<cos@2545 |

&27]

3

8
0.268]
0.266]

0.264

0.262)

0.258

e
@02
3
0018
0.016
0014
0012
0.01}
0.008
0.006
0,004
0.002




[Efieioncy Sey=4s, 25 5ecos @355 |

0318

]

3
03916}
0.014
0012

0.01}
0.008
0.006
0.004

0.002)

Eitcioncy Usy <1l 254 5<cos @355 ]

B
0a58|

(3
0.256
0.254

0.252)

0.248

[Eferency =35 2550013575 |

§15- -+ -+

0.14F
+ 4 + +

[Eciency Toy=zs. 2o scost@rasis |

o T T T T T

Scoul
0

N

T

0.268f

0.266|

0.264]

0.262F

[Eiteiency 3525 25 ecos@a55 |

++

++
+

+ 3

Nt

5 6
cos(8")

[Efcreney 2535 25 swcos@r 255 |

++

£
e

[Eroeney

Toye1h 25 5o @35S |

ugse F
0.284F
0.282F

0.28F
0.278F
0.276f
0.274)
0.272)

0.27F

5 6
cos(6")

[Eiciency 3= 2o swcos@r35as |

&16F
3

S
0.15F

[Eiceney sy05. 25 5cos@<3545 |

0Z66|
3
8
0.264]
0262
0.26
0258
0.256]

0.254

z
§02)
0.018
0.016
0.014]
0.012)

0.0}
0.008
0.006)
0.004)
0.002)




[Efieioncy Sey=4s, 35 5ecos @455 |

0g: AR MAARL MRl MALR )
2

S +
0.018p

oo06F =+

0.014F
+
0.012F -+

0.008F

0.006f-

Eitcioncy Usy <15, 354 5<cos @455 ]

02 L e e i
3
8
0.25F
0.248]
0.246

0.244f

0.242f

[Eferency =35 355014545 |

19
5
0345}

0.1
0.105]

[Eciency Toy=zs, 35 scost@rasis |

& coul

o
3
2

0.262]

0.258|

0.256|

0.254]

5 6
cos(6")

[Ereey

<25 35 bcos @A |

H
0875

0.25}

0.245|

+++ 3

5 6
cos(8")

[Efcreney 2535 s mcos@r 455 |

0365F
g
8

W

0.26}

0.255]

_I_

e

[Efferency =15 35 5o @455 |

28}

ceunt

0.278

0.276)

0.274]

0.272)

0.268)

0.266)

0.264)

:+HH+:

5 6
cos(6")

[Eceney 3555 35 50os@r255 |

0555
3
8
0.15}
0.145]
0.14]
0.135]
0.3
0.125
0.12)
0.115|

N ¥
- * g
+ o+

0.1

5 6
cos(67)

[Eferency V05, 35 scos@r=asis |

cognt
N
3

0.258

0.256)

0.254]

0.252)

5 6
cos(6")

[[Etcroney #5555, 35 sweos@r 255 ]

024
0822

0.02)
0.018
0.016)
0.014]
0.012)

0.01}
0.008
0.006,




	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9


